ROOF SHEATHING FASTENING TABLE (RAFTER / TRUSS SG = 0.49) GENERAL NOTES:
Wind ?L‘.‘Zaufﬂ':;i Required Nail spacing gla:L;'?z:;?gediate NAIL 0SB TO OR NAIL OS5 TO LOWER TOP PLATE & CONNECTOR TABLE .
Speed  |Plywood  |Nail along panel | 000 in the UPPER TOP PLATE STRAP TRUSS TO LOWER TOP PLATE Uplift SP|Uplift SPF|Truss Connector To Plate To Truss/Rafter TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN
or 0SB edges panel field (IF POSSIBLE) 505|505 SDWC15600 - - ACCORDANCE WITH THE FBCR. TRUSS ENGINEERING SHALL INCLUDE TRUSS
- - DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
120 mph 716" o a0 e oc 12" oc 415|290 H3 4-8dx1 12 4-8dx1 112 TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
Xp. ( 113") 615 540 H2.5A 5-8dx1 1/2" 5-8dx1 1/2" ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE
120 mph  |7/16" ASTM F1667 RSRS-01 6" oc 6" oc ~ 1320 11015 H10A 910d1 172" 91041 12" TRUSS MANUFACTURER AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S
ROOF SHEATHING SEE Exp. C (23/8" x 0.113") I : : DESIGN ENGINEER. IT IS THE BUILDER'S RESPONSIBILITY VERIFY THE TRUSS DESIGNER
ROOF SHEATHING FASTENING TABLE 120 mph  |19/32" ASTM F1667 RSRS-03 6" oC 6" oc = LTS16 720 620 LTS12-20 6-10d1 1/2 6-10d1 1/2 FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO SELECT UPLIFT CONNECTIONS
PRE-ENGINEERED WOOD ROOF TRUSSES or ASTM F1667 RSRS-04 OR 6) NAILS IN 1250 11245 752030 21041 172" 121041 112" WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
(3" x 0.120") SDWC15600 REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS
ﬁ; (2):/' $HCE EEEEHCC:)L TT%?E CONNECTORS . UP TO 505 # LOWER TOP Uplift SP|Uplift SPF|Strap Ties To One Member | To Other Member WITH MIN. UPLIFT CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END.
130 mph  |7/16" ASTM F1667 RSRS-01 6" oc 6" oc PLATE
PER TRUSS UPLIFT LOADS Exp. B (2 3/8" x 0.113" UPLIFT UP TO 620 # 1235 1235 LSTA21 8-10d 8-10d
: : SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN
(EITHER STRAPS OR SCREWS MAY BE USED) 130 mph  [15/32" ASTM F1667 RSRS01 6" oc 6" oc SHEATHING NAILING: UPLIFT 1640|1455  |MSTA24 9-10d 9-10d
Exp. C (23/8" x 0.113") 1/2" MIN. HORIZ. EDGE 1030 (1030 €S20 7-10d 7-10d FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET
. g " . DIST. & 3/8" MIN. VERT. : : " GRAVITY LOAD REQUIREMENTS (ASSUME 1500 PSF BEARING CAPACITY UNLESS
(2) 2x6 SPF #2 DOUBLE TOP PLATE foomph 19132 DA oasiy o |oree 0" oc EDGE DIST. Uplift SPIUplift SPF|Stud Plate Ties To Stud To Plate VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE)
P or ASTM F1667 RSRS-04 7/16" OSB FULLY BLOCKED 585 535 SP1 6-10d 4-10d
TRUSS TO TOP PLATE (3" x 0.120") 2X4 SPF #2 FROM TOP PLATE TO BOTTOM PLATE 1065 605 SP2 6-10d 6-10d CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 2500 PSI.
131" " - - - BLOCKING " OC EDGE 12" OC FIELD -
t (4) .131"X3 1/4" TOE NAILS 140 mph  [7/16 ASTM F1667 RSRS-01 (6" oc 6" oc & SHEATHING j 8d @ 3" OC EDGE 12" OC 771 771 LSTA24 10-10d wrap under or over plate WELDED WIRE REINFORCED SLAB: 6" x 6" W1.4 x W1.4, FB = 85KSI, WELDED WIRE
Exp. B (23/8" % 0.113") SPLICE MAY BE OMITTED IF FULL 1235 1235 LSTA24 14-10d wrap under or over plate REINFORCEMENT FABRIC (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE
|1540 n&ph 19/32" Azsw F1 g% 1RSRS-os 6" oc 6" oc / HEIGHT SHEATHING COVERS Uplift SP|Uplift SPF|Holdowns @ Stemwall |To Stud/Post  |Anchor S(FD _‘I[I_;I_g EI).(%EI!E;ESSJ;PORTED WITH APPROVED MATERIALS OR SUPPORTS AT SPACINGS
i " x ) n " L " ", " H .
xP f,r ASTM F1667)RSRS_04 23 A",’,'Aé UPPER TOP PLATE & BOTTOM 1825  [1800 DTT2Z 8-SDS 1/4"x1 1/2" |1/2"x12" Titen HD
(3" x 0.120") HORIZ. PLATE 1" MIN. 4235 3640 HTT4 18-16dx2 1/2" 1/2"x12" Titen HD FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER
. 140 mph  |19/32" ASTM F1667 RSRS-03 6" oc 6" oc SPLICE Uplift SP|Uplift SPF|Holdowns @ Mono  |To Stud / Post | Anchor %‘?‘g%%%ﬂgg”g&%ﬁé%&gg ;’é"}ﬁg mﬁ Lﬁi@?ﬁhggi‘}{%%émﬁ'ﬁﬁéﬁ“é 0.75
NOTE: q 24" MAX 4, =o-D et oa) rsRrs .04 16" 0SB 1825  [1800 DTT2Z 8-SDS 1/4"x1 1/2" |1/2x6" Titen HD FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER TO PROVIDE ASTM C 1116
SEAL ALL PENETRATIONS (3" x 0.120") 7/16" OSB 423.5 364.0 HTT4 18-16dx2 1/2" 1/2"x12" Titen HD CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL.
o b G RE o 150 mph ~ 19/32" ASTM F1667 RSRS-03 (6" oc 6" oc Uplift SP)Uplift SPF Post Bases @ Stemwall|To Post Anchor_ CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL
STOP BLOCKING co Exp. C (21/2" x 0.131") 1900 ABU44Z 12-16d 5/8"x12" Drill & Epoxy BE CUT IN ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB
APPROVED SEALANT or ASTM F1667 RSRS-04 2475 ABUG6Z 12-16d 5/8"x12" Drill & Epoxy PLACEMENT. THE LENGTH / WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND
(8" x0.120") Unlift SP|Unlift SPF|Post B m To Post Anch TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT CUT WWM OR REINFORCING STEEL.
NOTE: IF TRUSS BEARING LOAD 150 mph |19/32" ASTM F1667 RSRS-03 4" oc 4" oc Pl ph ost Bases @ Mono oFos nhchor (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO OWNER AND
EXCEEDS 425 PS| USE SYP #2 Exp. D (21/2" x 0.131") 1900 ABU44Z 12-16d 5/8"x7" Drill & Epoxy CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT
ngn :LDADT:% rll';\ ::I' BEé(:;ﬁ gessL?é ‘s O or ASTM F1667 RSRS-04 2475 ABUGGZ 12-16d 5/8"x7" Drill & Epoxy CRACKS BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.)
3" x 0.120"
USE SIMPSON TBE BEARING ENHANCER , ( — ) , — SHEATHING FOR UPLIFT REBAR: ASTM A 615, GRADE 40, DEFORMED BARS, FY = 40 KSI. ALL LAP SPLICES 40 * DB
Note: For sheathing located a minimum of 4 feet from the perimeter edge of the roof, including 4 feet (25" FOR #5 BARS); UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN
on each side of idges and hips, nail spacing is permitted to be 6 inches on center along panel edges ATTACHMENT DETAILS EXTERIOR WALL STUD TABLE FOR SPF #2 STUDS: ACCORDANGE WITH ACI 315-96, U.N.O.
an Inches on center along intermediate supports in the panel tield. Note: IS table specifies the
2x6 SPF#2 STUDS code minimum thickness of roof sheathing. The thickness of the sheathing may need to be increased | QONE STORY WOOD FRAME ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS: SHEATHIN
SEE STUD TABLE based in the type of roofing material being used. See manufacturer Florida product approval. THIS STUD HEIGHT TABLE IS PER 2012 WFCM, TABLE 3.20B5, UI?ISLOSE:KED, APPLIED PERPENDIGULAR 16 FRAMING, EVER A MNMUM OF 3 FRAMING
EXTERIOR LOAD BEARING & NON LOAD BEARING STUD LENGTHS| |MEMBERS, WITH PANEL EDGES STAGGERED.
/ YT 2X4 OUTLOOKERS @ 24" OC FOR WALLS WITH OSB EXTERIOR AND 1/2" GYP INTERIOR
FOR OVERHANGES 12"-24" USE A DROPED GABLE TRUSS WITH ATTACH TO TRUSS% RESISTING INTERIOR ZONE WINDLOADS. 130 MPH. EXPOSURE C STRUCTURAL CONNECTORS: MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS,
2X4 OUTLOOKER @ 24" O.C. w/ H2.5a TO GABLE TRUSS AND (4) 131"X3 1/4" TOE NAILS ’ J d ANCHORS, AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT.
(4) .131"x 3.25" NAILS TO 2nd TRUSS (BLOCK BETWEEN OUTLOOKER) \\ STUD DEFLECTION LIMIT H/240 (NOT OK FOR BRITTLE FINISH). AN EQUIVALENT DEVICE OF THE SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED
7/16" 0.S.B. WALL SHEATHING [~ STUD SPACINGS SHALL BE MULTIPLIED BY 0.8 FOR FRAMING FOR ANY DEVICES LISTED IN THE EXAMPLE TABLES AS LONG AS IT MEETS THE REQUIRED
8 COMMON NAILS 2X4 LOOKOUT BLOCK @ 24" 0C LOCATED WITHIN 4 FEET OF CORNERS FOR END ZONE LOADING. | |LOAD CAPACITIES. MANUFACTURER'S INSTALLATION INSTRUCTIONS MUST BE FOLLOWED
3 0G EDGE. 12" OC FIELD H3 EACH OUTLOOKER (END ZONE EXAMPLE 16" O.C. x 0.8 =12.8" O.C.)
¥ (4) .131"X3 1/4" 1) 2x4 @ 16" OC TO 10'-1" STUD HEIGHT ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN
ﬁﬁflﬁﬁﬁ:g‘,fm';%? DETAILS y— ROOF SHEATHING NAILS 21; > g 100 0 172" STUD REIGHT DRAWINGS BUT NO LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR
ROOF SHEATHING X - 15" IN GROUTED CMU.
N ’ - ya " L "
(1) 2x6 @ 16" OC TO 15'-7" STUD HEIGHT
12" Al )
(4) 131"X3 1/4” - THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE
" CONCRETE FLOOR SLAB REINFORCED INSTALL 2X4 SPF#2 DIAGONAL BRACE NAILS GRADE & SPECIES TABLE SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
WITH 6X6-1.4/1.4 WELDED WIRE MESH AND NAIL TO BLOCKING AT TOP CHORD & — CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND
P O L O oR BOTTOM CHORD AND RAT RUN @ 6' O.C. A& BRACE NAILED Fo | E BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
BARRIER WITH 6" LAPS SEALED WITH 7116" OSB 8d 3" O.C. — ] TO TRUSS WEBS / BLOCKING PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY
POLY TAPE OVER TERMITE-TREATED EDGE & 12" O.C. FIELD EACH TRUSS OR PLATE NAILED TO TRUSS 2x8 SP #2 925 (1.4 WITH FBCR REQUIREMENTS FOR THE STATED WIND VELOCITY AND
AND COMPACTED FILL ATTACH RAT RUN TO DIAG. BRACE NOT NAILED BOTTOM CHORD 2%10 SP #2 800 |14 DESIGN PRESSURES.
BLOCKING w/ TO TRUSS WEBS / BLOCKING wi .131X3 1/4" @ 6" OC : PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU
(@) 131°X3 ;"; 4" NAILS MAX SPAN 7' OR 12' IF 2x12 SP #2 750 (1.4 BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL
2X_PT SP #2 PLATE : /—(4 131"X3 1/4" T" BRACED GLB SAF-V3SP  1260011.9 THE WIND LOAD ENGINEER IMMEDIATELY.
1/2" X 10" ANCHOR BOLT TOE NAIL TRUSS NAILS (4) .131"X3 1/4" ~ “ EXTERIOR SHEATHING VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS
$t 3" X 3" X 1/4" WASHER TO TOP PLATE J /_ NAILS LSL [TIMBERSTRAND|1700(1.7 DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
@ 32" OC & 8" FROM CORNERS 12d @ 6" 0.C \ \ VL| MICROLAM 12950020 TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL
e : BEARING LOCATIONS.
SIMPSON LSTA24 ——mo] v PSL PARALAM 2900|2.0
. ROOF SYSTEM DESIGN:
w/ (7)-10d TO TRUSS L— 2X4X8' RAT RUN NAIL EACH - STUDS MUST BE CONTINUOUS '
& (7)-10d TO WALL CONNECTION w/ (4) .131"X3 1/4" NAILS 7 BETWEEN POINTS OF THE SEAL ON THESE PLANS FOR COMPLIANCE WITH FBCR, c
OR LATERAL SUPPORT IS BASED ON REACTIONS, UPLIFTS, AND BEARING LOCATIONS IN i)
SIMPSON (4) .131"X3 1/4" NAILS SEE STUD TABLE TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. IT IS = -
SDWC15600 (8) .131"X3 1/4" NAILS THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE ‘5’ 8‘) :
ONE STORY WALL SECTION @ 48" 0.C. UN.O. COMPLETE ROOF SYSTEM DESIGN SUBMITTED BY THE TRUSS c bS]
2X4 SPF#2 BLOCKING (FIRST BAY ONLY ..
( ) MANUFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN s % & E
SCALE: 3/4" = 1'-0" H3 INSTALLED HORIZONTALLY PROFESSIONAL FOR CORRECT APPLICATION OF FBCR REQUIRED c ® O
LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO o) I w 7 ike;
- REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF —_ o5
SPACE RAT RUN & DIAGONAL BRACE 6'-0" O.C. SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL O © Qo
FOR GABLE HEIGHT UP TO 25'-0" 130 MPH, EXP. C, ENCLOSED BRACING. THE BUILDER SHOULD USE CARE CHECKING THE ROOF E c <3 =
DESIGN BECAUSE THE WIND LOAD ENGINEER IS SPECIFICALLY NOT 7] - c&
(TYP-) GABLE WALL w/ VAULTED CEILING RESPONSIBLE FOR THE TRUSS LAYOUT WHICH WAS CREATED BY THE e = 8 g %
(TYP. ) GABLE BRACING DETAIL TRUSS MANUFACTURER AND THE TRUSS DESIGNER ALSO DENIES O © Tog
WOOD FRAME RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED o > o=S
WOOD FRAME TRUSS SHEETS. N (')
o o
% E o
l_ ~
SEE "STRUCTURAL PLAN NOTES" )
FOR (U.N.O) STRAPING OR SCREWS m
ALL OTHER STRAPING OR SCREWS LESS OR MORE
IS NOTED ON STRUCTURAL PLANS
HEADER SCREWS TABLE
Option | Uplift | Top Connection Bottom Connection
8 Attach king stud to bottom plate
,:_’ - - #1 <510 Attach king stud to top plate |w/ (2) Simpson SDWC15450
n T T T w/ (1) Simpson SDWC15600(1/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer
g (6) .131"X3 1/4" TOE NAILED must be located within 6" of king stud @ all door locations
< N OR BACK NAILED THRU #2 < 895|Attach king stud to top plate |Attach king stud to bottom plate
° 7 KING STUD INTO HEADER w/ (2) Simpson SDWC15600|w/ (3) Simpson SDWC15450
o) E 77777 e S [ 1/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer
w ‘;’ E‘,I:II;A:I'I:II;\IE-; ;\/IIJé'; I;Eil\]A;LiEIB:I'E) :F(SF: I;LiA'iI'Eisi A must be located within 6" of king stud @ all door locations
<
Z 3 ||| wr8d 3" OC (NAILING MAY BE STAGGERED) HEADER STRAP TABLE
@ % & SEEQTWNG EA"-ED TO HEADER Option|Uplift |{Top Connection Bottom Connection
% .= w/(2) ROWS OF 8d @ 6" OC LSTA24, 14-10d wrap under plate
g z g #3 < 1235|LSTA24, 14-10d wrap over plate 1/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer
) (5) o ALL HEADER JACK & KING STUDS SHALL must be located within 6" of king stud @ all door locations
Zo ? BE FASTENED TO EACH OTHER w/ (2) ROWS #4  |<1455|MSTA24, 18-10d header to jacks ~ |DTT2Z
Eo2 10d @ 8" OC STAGGERED #5  |<1800|(2) MSTA24, 18-10d header to jacks |DTT2Z
”%J § = #6  |<2910((2) MSTA24, 18-10d header to jacks |HTT4
7# 7::::ﬁ:::::::ﬁ:::::::ﬁ::::f’
— WINDOW SILL PLATE —
[ [
11 (PER TABLE BELOW) 11
TOE AL A o A
i ! 216 - Eﬁg '131}.. }i 3.05" NAILS | SILL PLATE SPANS FOR 10'-0" WALL HEIGHT This item has been digitally signed and sealed by
- I T I - Mark Disosway PE on digital signature date.
; ; ; ; ; : DESIGN MAX. SPANS FOR SPF #2 BASED ON WFCM Printed copies of this document are not considered
I | 1 WIND SPEED 1) 2x4 (2) 2x4 (1) 2x6 (2) 2x6 TABLE A-3.238 signed and sealed and the signature must be
CRIPPLES IF REQUIRED ( c nature
: : : : : : \I FOR OTHER WALL verified on any electronic copies.
—9
I 130 MPHEXP.C| 5-2" 79" 77 113 | HEoras St
DIVIDED BY (H/10) Cc=us, O:Florida,
dnQualifier=A014
Mo 53915 - 10C0000017E97
TYPICAL HEADER STRAPING OR SCREWS DETAIL DESIGN CRITERIA & LOADS. o ey Yot LOCO0000L7ES7.
ONE STORY WOOD FRAME w/ STRAPS & ANCHORS BUILDING CODE 7TH EDITION igital Signature: & =
PSS 0, CN=Mark d
FLORIDA BUILDING CODE RESIDENTIAL o> - U, CLN=Mar
(2020) & Disosway
_ PRINTEDVSIGHATURE IS NOT vALID .
TOP PLATE SPLICE NAILING @ TOP PLATE TO STUD CODE FOR DESIGN LOADS ASCE 710 cuick rere rowatoate pesie 2023-03-31 12:
BT 48" MIN. SPLICE LENGTH END NAIL OR TOE NAIL (77704 u T WINDLOADS 06:34
. . ) 50 COOLER NAILS ‘ w/ (16) .131"X3" NAILS ) 131"X3 1/4" NAILS SPH_@ X1 1/2" FILL HALF THE (1) 108X1 112" — BASIC WIND SPEED 130 MPH
131"X3 1/4" NAILS 12" OC S O R S - FiELD & ) (g) Egs gég CHANGE IN PLATE HEIGHT HOLES —4 y 2X6 SP #2 GARAGE DOOR BUCK ATTACHMENT (ASCE 7-16, 3S GUST) DIMENSIONS:
E 4; FOR ax5 INSTALLED HORIZONTALLY ‘Pj_" ATTACH GARAGE DOOR BUCK TO STUD PACK AT WIND EXPOSURE c Stated dimensions supercede scaled
0SB - (5) FOR 2X10 —e EACH SIDE OF DOOR OPENING WITH 3/8"X4" LAG (BUILDER MUST FIELD VERIFY) dimensions. Refer all questions to
, e 7 e o oreomecacon |
Wi - Do not proceed without clarification.
2X_ FULL HEIGHT STUDS (TYP) ] e NALS b b O s AR L A e e O (BUILDER MUST FIELD VERIFY) p without clarificati
I= | STAGGERED (7) - 10dX1 1/2" TO HEADER STAGGER 16d NAILS OR (2) ROWS OF .131X3 1/4" RISK CATEGORY 1l COPYRIGHTS AND PROPERTY RIGHTS:
. 4 OR CORNER FILL HALF THE GN PER TABLE BELOW: ENCLOSURE CLASSIFICATION  |ENCLOSED Mark Disosway, P.E. hereby expressly reserves
8d 3" OC @ PANEL EDGES o o o HOLES BETWEEN HEADER & INTERNAL PRESSURE 0.18 ifhs common law COPfyfight_S anghl?fodpefty right in
. I I I CORNER g 16d (2) ROWS OF COEFFICIENT these instruments of service. This document is
8d 12" OC NOT @ PANEL EDGES I I I DOOR WIDTH | 3/8"X4" LAG STAGGER | .131"X3 1/4" NAILS ROOF ANGLE 745 DEGREES not to be reproduced, altered or copied in any
H H H Z 45 form or manner without first the express written
,,,,, e . 8'-10' 24" OC 5" 0OC 5"0OC MEAN ROOF HEIGHT 30 FT permission and consent of Mark Disosway.
777777777777777777777777777 STUD PACK C&C DESIGN PRESSURES |SEE TABLE . .
M UNDER POINT LOAD 11'-15' 18" OC 4" 0OC 4" 0C CERT|F|CAT|ON. | hereby certify tha.t | have
NAIL EACH PLY FLOOR LOADING examined this plan, and that the applicable
\ . " " " ortions of the plan, relating to wind engineerin
w/ .131"X3.25" NAILS 2X4 BLOCKING 16'- 18 16" OC 3"oc 3"oc ROOMS OTHER THAN 40 PSF LIVE LOAD Somply with the 7th Edition Florida
@ 6" OC STAGGERED SLEEPING ROOM Building Code Residential (2020)
1/2" GWB UNBLOCKED SLEEPING ROOMS 30 PSF LIVE LOAD to the best of my knowledge.
5d COOLER NAILS
7" OC EDGE 10" OC FIELD cs20 ROOF LOADING LIMITATION: This design is valid for one
FLAT OR < 4:12 20 PSF LIVE LOAD building, at specified location.
| ] @ 41270 < 12:12 16 PSF LIVE LOAD
z | 12:12 & GREATER 12 PSF LIVE LOAD
2X_ FULL HEIGHT STUDS (TYP)) ~ A2 e | | e I | | | R | | 26 SP #2 DOOR BUCK / SOIL BEARING CAPACITY |1500 PSF Mark Disosway P.E.
>JF A 2 e A R [ A A ST . A FLOOD ZONE THIS BUILDING IS NOT IN THE FLOOD ZONE 163 SW Midtown Place
e [ [ 1 H
J’/ OsSB NA|L|N6 SILL PL,‘A'I"E TOSTUD | | BRACKET. Suite 103
131"X3 1/4" NAILS 12" OC 8d 3" OC @ PANEL EDGES NALING @SILL PLATE X Lake City, Florida 32025
" " !
8d 12" OC NOT @ PANEL EDGES -133::32 12/;‘4 NAILS . X 43 W é éﬁé COMPONENT & CLADING DESIGN PRESSURES 130 MPH (EXP C) 386.754.5419
[
§4; FOR 2X6 I u NOTE: EFFECTIVE ZONE 4 ZONE 5 disoswaydesign@gmail.com
(5) FOR 2X8 L I THIS DETAIL IS INTENDED TO BE USED ONLY FOR NAROW SHEARWALL SEGMENTS AS WIND AREA (FT2) INTERIOR END 4’ FROM ALL
(6) FOR 2X10 N N SPECIFIED ON THE PLAN. THE PIER BESIDE THE OPENING MUST MEET THE ASPECT RATIO OUTSIDE CORNER
| .
INSIDE CORNER J b X ¥ REQUIREMENT HW < 3.5:1 WHERE H IS THE PIER HEIGHT. FOR WINDOWS NOT GREATER 0-20 +25.6(Vasd)  -27.8(Vasd) +25.6(Vasd)  -34.2(Vasd) JOB NUMBER:
s Dt 2o oo | _waasu s -
(TYP.) CORNER FRAMING (TYP.) WALL CONNECTIONS ™ v 12 ancoR (TYP.) GARAGE DOOR BUCK INSTALLATION GARAGE DOOR DESIGN PRESSURES 130 MPH (EXP C) 230368
- . WITHIN 6" EACH SIDE OPENING FORCE TRANSFER WOOD FRAME 9x7 GARAGE DOOR +22.6(Vasd)  -25.5(Vasd)
WOOD FRAME ONE STORY WOOD FRAME OF PLATE JOINT WOOD FRAME 16x7 GARAGE DOOR +21.7(Vasd)  -24.1(Vasd) S -1
OF 3 SHEETS




POCKET FOR DOOR AS NEEDED

_______________________________________________________________________________________________________

0" SLAB

ELEVATION

C
i
© o) .
2 2 s
n o E
o T 0
— x5
© © goi
5 £ <5 =
§ 5 g
(e}
@ = 8=z %
N X n
wkk *hk Hkk Hkk cC E o Q
WET-SET WET-SET o = ©
7/8" THREADED ROD 7/8" THREADED ROD > —
AT HOLDDOWN w/ AT HOLDDOWN w/ CE
NUT /3" WASHER / NUT NUT / 3" WASHER / NUT
AT EMBEDDED END oN AT EMBEDDED END
4" FROM BOTTOM OF FOOTER ! \’ """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""" 4" FROM BOTTOM OF FOOTER
(SEE DETAIL ON SHEET S-3) | (SEE DETAIL ON SHEET S-3)
________________ 6x6 EMBEDDED STEEL COLUMN 6x6 EMBEDDED STEEL COLUMN
w/ (2) #5 X 18" REBAR w/ (2) #5 X 18" REBAR
24" x 82" x 16" DEEP WIDENED THROUGH STEEL COLUMN F1 THROUGH STEEL COLUMN 24" x 82" x 16" DEEP WIDENED
PAD FOOTER @ FRONT AT 6-18" FROM END OF COLUMN AT 6-18" FROM END OF COLUMN PAD FOOTER @ FRONT
WALL SHEARWALLS (SEE DETAIL ON SHEET S-3) (SEE DETAIL ON SHEET S-3) WALL SHEARWALLS
w/ #5 @ 8" OC EACH WAY @ 3" FROM BOTTOM w/ #5 @ 8" OC EACH WAY @ 3" FROM BOTTOM
(ADDJUST SPACING AS NEEDED 24" DIA. POURED CONCRETE 24" DIA. POURED CONCRETE (ADDJUST SPACING AS NEEDED
TO AVOID ANCHORS AND POST) FOOTING @ COLUMN FOOTING @ COLUMN TO AVOID ANCHORS AND POST)
(SEE DETAIL ON SHEET S-3) TOTAL DEPTH FROM SLAB 6'-0" TOTAL DEPTH FROM SLAB 6'-0" (SEE DETAIL ON SHEET S-3)
(SEE DETAIL ON SHEET S-3) (SEE DETAIL ON SHEET S-3)
FOUNDATION PLAN
SCALE: 174" = 1'-0"
FOUNDATION NOTES FL PE 53915

CONCRETE SLAB
MASONRY NOTE: ARE NOT EXACT. REFER TO ARCHITECTURAL PLANS _Mark Disosway PE on digital signature date.
MASONRY CONSTRUCTION AND MATERIALS FOR THIS PROJECT O ON eSS ES oL o P cope ol dsunent e o oo
SHALL CONFORM TO ALL REQUIREMENTS OF "SPECIFICATION MARK DISOSWAY, PE IS NOT RESPONSIBLE FOR — - verified on any electronic copies.
FOR MASONRY STRUCTURES" (ACI 530.1/ASCE 6/TMS 602). DIMENSION ERRORS ON THIS PLAN.
THE CONTRACTOR AND MASON MUST IMMEDIATELY, BEFORE CONTRACTOR SHALL VERIFY NEED FOR INTERIOR BEARING c=US. O=Florid
PROCEEDING, NOTIFY THE ENGINEER OF ANY CONFLICTS e T e R e AION PLAN e 12"W X 20" D FOR HOUSE =Us, O=Florida,
BETWEEN ACI 930.1-02 AND THESE DESIGN DRAWINGS. FN - 3| THE SLAB SHALL BE: 4" CONCRETE SLAB REINFORCED w/ MONO FOOTING dnQualifier=/014
ANY EXCEPTIONS TO ACI 530.1-02 MUST BE APPROVED BY T R A 4 WELDED WIRE MESH PLACED ON oHaRs ™ Wi (2) #5 CONTINUOUS o s 10C0000017E97
: - - Mark LNS0swa
THE ENGINEER IN WRITING. @ 1 1/2" DEPTH OR FIBER MESH CONCRETE, 6-MIL b, S— DEO7CA000746F
ACI530.1-02 Section Specific Requirements POLY VAPOR BARRIER w/ 6" LAPS SEALED w/ . = OF = 0, CN=Mark d
- " - ; - POLY TAPE OVER TERMITE-TREATED & COMPACTED FILL 2 .
1.4A Compressive strength 8" block bearing walls F'm = 1500 psi (ALSO, ANY OTHER CODE APPROVED TERMITE-TREATMENT ¥ D|sosway
2.1 Mortar ASTM C 270, Type N, UNO METHOD CAN BE USED INSTEAD) PRINTE H-E.Ség%ﬁaghﬂ\lfé;g 2023-03-31 12:
2.2 Grout ASTM C 476, admixtures require approval @ MONOLITH |C FOOTl NG 06:53
2.3 CMU standard ASTM C 90-02, Normal weight, Hollow, S 2 R .
medium surface finish, 8"x8"x16" running - SCALE: 1/2" = 1'-0
bond and 12"x12" or 16"x16" column DIMENSIONS:
block Stated dimensions supercede scaled
23 Clay brick standard ASTM C 216-02, Grade SW, Type FBS, ﬂg‘ring;ggzws;"f‘;{g"g;‘f:;‘;’;fi Lo
55275115 Do not proceed without clarification.
24 Reinforcing bars, #3 - #11 ASTM 615, Grade 40, Fy = 40 ksi, Lap
splices min 40 bar dia. (25" for #5) COPYRIGHTS AND PROPERTY RIGHTS:
2.4F Coating for corrosion protection Anchors, sheet metal ties completely .llllark Dlsosmllay, P.E. he;ﬁby e()j(pressl);t regerr]\;gs
embedded in mortar or grout, ASTM its common law copyrights and property right in
A525, Class G60, 0.60 gz/ﬂz or 304SS these instruments of service. This document is
- - - " - - not to be reproduced, altered or copied in any
2.4F Coating for corrosion protection Joint reinforcement in walls exposed to form or manner without first the express written
moisture or wire ties, anchors, sheet metal permission and consent of Mark Disosway.
ties not completely embedded in mortar or ’
grout, ASTMA153, Class B2, 1.50 0z/ft2 CERTIFICATION: | hereby certify that | have
or 304SS examined this plan, and that the applicable
3.3.E.2 |Pipes, conduits, and accessories |Any not shown on the project drawings portions of the plan, relating to wind engineering
require engineering approval. comply with the 7th Edition Florida
Building Code Residential (2020)
3.3.E.7 |Movement joints Contractor assumes responsibility for type to the best of my knowledge.
32?a:lc;%agﬁnp?;jzcc:v;:$m gjgmts if not LIMITATION: This design is valid for one
: building, at specified location.

BOTTOM OF EXTERIOR FOOTINGS SHALL BE A MINIMUM OF
12" BELOW UNDISTURBED SOIL OR ENGINEERED FILL

FN - 1|DIMENSIONS ON FOUNDATION & STRUCTURAL SHEETS

This item has been digitally signed and sealed by

Mark Disosway P.E.
163 SW Midtown Place
Suite 103
Lake City, Florida 32025
386.754.5419
disoswaydesign@gmail.com

JOB NUMBER:
230368

S-2

OF 3 SHEETS




BUILDER MUST VERIFT THAT TRUSS ENGINEER LOADS
GABLE GIRDER FOR SHEARWALL LOADS AS FOLLOWS:
GIRDER TRUSS
HORIZONTAL (in line with wall) SEE TRUSS ENGINEERING
o
' ' 7 \
0-5 45-50 Jov
CS16 (22) 0.131" x 2 1/2" NAILS /4//_ A o SWS=8.5 |(3) 2X10X10%40",1J 4K A01  SWS=8.5 L SWS=8.0
FROM HEADER TO GIRDER TRUSS ¥ i = Y — - - - - - - — _ i =
CASE#1 | +2600LB | +2600 LB QBTTA}%T\ATSSOPRLS‘E TOTRUSS WITHIN 8" OF EACH DOORHINGE | }[ 7 7 7+ == ====7=======
(16) 1/4" X 6" SDS NOT REQUIRED AT END HINGES
(5 STRAPS TOTAL) DESIGNED FOR
CASE#2 | -2600LB | -2600LB (2) 2X6 SYP#2 TOP PLATE GRAVITY LOAD OF 600 LBS MAX
/ (EXTEND OVER HEADER)
HORIZONTAL LOADS ARE DRAG LOADS y
INTO BOTTOM CHORD & OUT THE TOP CHORD. o
LEFT TO RIGHT IS POSITIVE GABLE END WALL SHEATHING © =)
EXTEND CONT. TO BOTTOM OF HEADER ® I
[72)
,— (8) 2x12 SP#2 HEADER (HEADER SUPPORTED BY GABLE TRUSS) = =
SPLICE AS NEEDED - OFFSET SPLICES 48" MIN.
(3) MSTA24 w/ (18) 0.148" x 2 1/2" WITH 1/2" PLYWOOD / OSI.B_FOR 51/2" TOTAL WIDTH
KING STUDS TO GIRDER TRUSS
HUCQ610-SDS BUCKET WELDED TO COLUMN
PER MANUFACTURES INSTRUCTIONS
(2) 1/2" THUR BOLT lﬁl =
w/ NUT AND WASHER i |
FROM COLUMN TO STUDS PACK i | ?
(WITH 12" OF TOP OF COLUMN) i i
Vi
SHEATH *** BOTH *** SIDES w/ u v
' =
7/16" 0.S.B. WALL SHEATHING
FULLY BLOCKED
8d COMMON NAILS
3" OC EDGE, 6" OC FIELD
1 BX6X3/8" HSS 46 ksi STEEL COLUMN - EMBEDDED
(FOR DOOR TRACK / MOUNTING)
(3) 2X6 SYP#2 STUDS A
AT END OF WALL / CORNER HANGAR DOOR . ENGINEERED TRUSSES &
X6 SPEH#2 STUDS < ATTACH PER TRUSS UPLIFT =~ -
@ 16" OC MAX \ ATTACH DOOR TO COLUMN AND HEADER 7 N
PER MANUFACTURES INSTRUCTIONS = %’
o (@]
STRAP THIS o o STRAP THIS
OPENING PER i T OPENING PER
HDU8-SDS2.5 HOLDDOWN OPENING FORCE b i OPENING FORCE
w/ (20) 1/4" x 2 1/2" SDS TO STUD PACK TRANSFER DETAIL i HEADER BRACE (to prevent rotation) i TRANSFER DETAIL
2X6 PT SYP #2 SILL PLATE ON SHEET S-1 FROM HEADER TO ROOF DECK ON SHEET S-1
w/ 1/2" x 6" TITEN HD @ 16" OC AT DOOR HINDGE LOCATION
TYPICAL OF 5 LOCATIONS
] 0 (SEE DETAIL THIS SHEET) ©
% @ % S
< 12x18 MONO FOOTER 2 2} = .
+ AT EXTERIOR EDGE % c% o (0] .
sk \WET-SET *** _ (SEE FOUNDATION PLAN) g g’ s
7/8" THREADED ROD © STRAP THIS 4 N STRAP THIS 2 © @5
AT HOLDDOWN w/ o 1 o o o o o o OPENING PER //// | P « | OPENING PER 8 I é @ '(é
NUT / 3" WASHER / NUT OPENING FORCE | | OPENING FORCE O = om 2
AT EMBEDDED END ) ] TRANSFER DETAIL. « == | TRANSFER DETAIL L e 295
4" FROM BOTTOM OF FOOTER 82 \\> S ONSHEETS-1 |~ _ _ |~ | ON SHEET s-1 Q @ =28
© ) ® Lo e
" o o [0 e ©
04" x 82" x 16" DEEP WIDENED — 24" DIA. POURED CONCRETE = 2 3 S S=z3
FOOTING @ COLUMN I f o
PAD FOOTER @ FRONT " 0 ) c £ o
TOTAL DEPTH FROM SLAB 6'-0 - ____®  _________¥& _ ________¥_ ________* ___________¥% ____ = c 3
WALL SHEARWALLS (2) #5 X 18" REBAR ———— = = === ========s====S==========sf==========gF============5===-=-= © = -
w/ #5 @ 8" OC EACH WAY @ 3" FROM BOTTOM THROUGH STEEL COLUMN SWS=5 0 A A03 SWS=50 )
(ADDJUST SPACING AS NEEDED AT 6-18" FROM END OF COLUMN N\ o / " o
TO AVOID ANCHORS AND POST) SHEARWALL WITH SHEARWALL WITH
SHEATHING ON BOTH SIDES _ SHEATHING ON BOTH SIDES
¢ (SEE DETAIL THIS SHEET) 6x6 EBMEDDED STEEL COLUMN 6x6 EBMEDDED STEEL COLUMN g (SEE DETAIL THIS SHEET)
FOR DOOR / TRACK SUPPORT FOR DOOR / TRACK SUPPORT
(SEE DETAIL THIS SHEET) (SEE DETAIL THIS SHEET)
\
é 9'-0"+ 7'-2"+ 7'-2"+ 9'-0"+
. : VERIFY SPACING WITH DOOR ENGINEERING
HANGAR SHEARWALL & DOOR COLUMN DETAIL | 20pa | 2 STRUCTURAL PLAN
SCALE: 1/2" = 1'-0" SCALE. 1/4" = 10"
*** GABLE END TRUSS A03 ***
HANGER DOOR (BY OTHERS) THE FOLLOWING DESIGN CHANGES MUST BE MADE:
NAIL ROOF SHEATHING TO BLOCKING - THIS SEALED ENGINEERING DOES NOT INCLUSE THE DESIGN - MUST BE REVISED TO HAVE BEARING
w/ (2) ROWS OF 8d NAILS @ 4" OC
OF THE HANGER DOOR. THIS ENGINEERING IS BASED ON THE v o~y
T TAGH BRAGE TO BLOGKING STATED LOADS ON THIS SHEET AS PER THE BUILDER ONLY ON 4'-6" WALLS AT ENDS
- HANGER DOOR ATTACHED TO 6x6 COLUMN AND TO HEADER -
wi (6) 1/4" x 4 1/2" SDS SCREWS - DOOR IS TO BE INSTALLED PER MANUFACTURES ENGINEERING SUPPORT VERTICAL DEAD LOAD OF HEADER
- BUILDER IS TO PROVIDE DOOR ENGINEERING FOR REVIEW AND KNEE WALL BELOW (50 PLF PER FOOT)
STRAP ACROSS TRUSSES SEE GABLE END BRACING DETAIL BEFORE STARTING CONSTRUCTION - SUPPORT VERTICAL DEAD LOAD OF THE 5
GS16 W/ (8) 131" x2 112" NAILS EAGH END \ \ CENTER HANGER DOOR HINGE LOADS (600 LBS PER HINGE)
\ AL \ P 4 J - TRUSS MUST BE DESIGNED FOR DRAG PER TABLE (THIS SHEET) FL PE 53915
/ . /' This item has been digitally signed and sealed by
. Mark Di PE on digital signature date.
. Printeadr co;ln?g: \g? zﬂs dggunlga{r?t asllg?%? (r:%nsai;ered
(2) 2x4 BLOCKING BETWEEN signed and sealed and the signature must be
(3).131"x 3 2TRUSSESS INC3 A verified on any electronic copies.
131" x 3.25" NAILS EACH END
GABLE BRACING BETWEEN C=US, O=Florida,
HEADER BRACE (NOT SHOWN) dnQualifier=A014
SEE GABLE END DETAIL 10C0000017E97
DEO7CAO000746F
STRUCTURAL PLAN NOTES g,_CN:Mark d
L N B ., ) ISOSWay
GABLE END TRUSS (DESIGNED BY OTHERS) DIMENSIONS ON STRUCTURAL SHEETS clicK nert Towambme niesis. 2023-03-31 12:
TRUSS MUST BE DESIGNED TO SUPPORT SN-1 ARENOTEXACT. REFER TO ARCHITECTURAL 07:16
e HEADER AND DOOR LOADS AND DRAG LOADS FLOOR PLAN FOR ACTUAL DIMENSIONS UNLESS NOTED OTHERWISE (MINIMUM REQUIERMENTS)
X *kk *kk DIMENSIONS:
AT EACH DOOR HINGE LOCATIONS GABLE END WALL SHEATHING PERMANENT TRUSS BRACING IS TO BE INSTALLED AT SEE STRUCTU RAL PLAN FOR ANY SPECIFIC CALL OUTS Stated dimensions supercede scaled
NOT REQUIRED AT END HINGES (5 BRACE TOTAL) EXTEND CONT. TO BOTTOM OF HEADER LOCATIONS AS SHOWN ON THE SEALED TRUSS DRAWINGS. BEAM / HEADERS (SIZE) ALL LOAD BEARING FRAME WALL & PORCH HEADERS gimensions. Refer all questions o
NAIL TO VERT IN TRUSS SYSTEM SN-2 LATERAL BRACING IS TO BE RESTRAINED PER BCSI1-03, SHALL BE A MINIMUM OF (2) 2X6 SP #2 (UNO) Do ot proceed without clarfication.
w/ (4) 131" x 3.25" NAILS PER CONNECTION " " -2 BCSI-B1, BCSI-B2, & BCSI-B3. BCSI-B1, BCSI-B2, & BCSI-B3
IS LAP IS NEEDED NAILS WITH (14) 431" x 3.25" NAILS ‘ CS16 (22) 0.131" x 2 1/2" NAILS ARE FURNISHED BY THE TRUSS SUPPLIER, WITH THE SEALED HEADERS (JACK & KING STUDS) ALL LOAD BEARING FRAME WALL HEADERS COPYRIGHTS AND PROPERTY RIGHTS:
EACH SIDE OF SLICE FROM HEADER TO GIRDER TRUSS TRUSS PACKAGE SHALL HAVE (1) JACK STUD & (1) KING STUD Mark Disosway, P.E. hereby expressly reserves
" it: | ight d rty right i
\lilvcl)TI'Hll?I\llEgU?;EIIEDAETHE?\I%OI-ﬁ l?él\llngs STRAPS TOTAL cALh SDE () these insiruments of service. Thiscocument s
( ) HEADERS (STRAPING) ALL HEADERS w/ UPLIFT TO BE STRAPPED OR SCREWED DOWN not to be reproduced, altered or copied in any
DESIGNED FOR GRAVITY LOAD OF 600 LBS MAX w/ MIN. OPTION #1 OR OPTION #3 (SEE DETAIL ON SHEET S-1) (U.N.O.) form or manner without first the express written
1/2u X 10-1 ANCHOR BOLT W/ 3" X 311 X 1/4" WASHER permission and consent of Mark Disosway.
A A \}fvi\lexEGv@rlllLD%N@T ?g. %'EZES‘(E))SELE TOP PLATE MUST BE LOCATED WITHIN 6" OF KING STUD @ ALL DOOR LOCATIONS (U.N.O.) CERTIFIGATION: | hereby certify that | have
"""""""""""""""""""""""""""""""""""" = examined this plan, and that the applicable
= (3) 2x12 SP#2 HEADER (HEADER SUPPORTED BY GABLE TRUSS) JACK STUDS UNDER GIRDER TRUSS|USE ONE JACK STUD GIRDER SUPPORT PER 2000 LB LOAD ortions of the plan, relating to wind engineering
1 PLICE AS NEEDED - OFFSET SPLICES 48" MIN. ACTUAL vs REQUIRED SHEARWALL comply with the 7th Edition Florida
S % S OFFS S CES 48 Building Code Residential (2020)
WITH 1/2" PLYWOOD / OSB FOR 5 1/2" TOTAL WIDTH TRANSVERSE LONGITUDUNAL to the t?est of my knowledge.
[ DI ACTUAL 14967 LBF 23760 LBF o
T T e ITIIIITIIIITTmmm-- LII\_/II'_I'ATION:Thl_s_de5|gn!svalldforone
HEADER BRACE (tO Drevent I’Otation) ATTACH BRACE TO HEADER W ____________________--——————:::::fffff:] REQUIRED 12817 LBF 22262 LBF HEADER LEGEND building, at specified location.
w/ LUS26 BUCKET AND [CZ2iN-------mmmmmm T TT
TYPICAL AT EACH DOOR HINDGE CS16 (22) 0.131" x 2 1/2" NAILS *LH ANGER DOOR THRU BOLTED TO |(2) 2X6X0',1J 1K [+————— HEADER/BEAM CALL-OUT (U.N.O.) ]
TYPICAL AT EACH DOOR HINGE HEADER PER DOOR INSTALL DETAILS L 1 4 11 Mark Disosway P.E.
MAX DESIGN HORIZONTAL LOAD: i
600 LBS MAX DEAD LOAD CONNECTIONS, WALL, & HEADER DESIGN IS BASED NUMBER OF KING STUDS EACH SIDE OF OPENING (FULL LENGTH) 163 SW Midtown Place
840 LBS MAX WIND LOAD THIS DESIGN IS BASED ON THE FOLLOWING DOOR LOADS: ON REACTIONS & UPLIFTS FROM TRUSS ENGINEERING Suite 103
7 HINGES (EVENLY SPACES ALONG TOP EDGE OF DOOR) FURNISHED BY BUILDER. W.B. HOWLAND CO. — NUMBER OF JACK STUDS EACH SIDE OF OPENING (UNDER HEADER) Lake City, Florida 32025
TOTAL DEAD LOAD = 3000 LBS MAX WITH = 600 PER MAX PER HINGE JOB 22-8407 SPAN OF HEADER 386,75 4.5419
WINDLOAD TRANSFER TO VERT COLUMN = 75% AREA (CLOSED) . 19%. .
WINDLOAD TRANSFER TO HEADER = 25% AREA (CLOSED) SIZE OF HEADER MATERIAL disoswaydesign@gmail.com
HORIZONTAL LOAD PER HINGE = 550 LBS MAX (OPEN)
HORIZONTAL LOAD AT WHEEL ON VERT COLUMN = 2000 LBS MAX (OPEN) NUMBER OF PLIES IN HEADER
JOB NUMBER:
230368
OF 3 SHEETS




